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Let v6_incsp-1 : t=>0 be given. Let vl_incproj : t=>0 be given. Let v2_incproj :
t=>0 be given. Let v3_incproj : t=0 be given. Let v4_incproj : t=-0 be
given. Let v5_incproj : =0 be given. Let v9_incproj : =0 be given. Let
[14ncsp_1 : 1=-0 be given. Let m1_subset_1 : t=-t=-0 be given. Let ul_incsp_1 :
(= be given. Let u2_incsp_1 : 1=t be given. Let rlincsp-1 : t=>1=1=-0 be
given. Let kl_funct_1 : 1=1=- be given. Let kl_projredl : :=1=1=1=>1 be
given. Let kl_zfmisc_1 : 1= be given. Let rl_tarski : t=1=-0 be given.
Let vl_funct.1l : =0 be given. Let k2_zfmisc.1 : 1=1=- be given. Let
kl_relset_1 : t=1=>1 be given. Assume the following.

VX0.YX1.(ml_subset_1 X0 (kl_zfmisc.1 X1))e(rltarski (1)
X0 X1)

Assume the following.

VX0.YX1.VX2VX3.(((v6-incsp-l X0)A
((vlzineproj X0)A((v2-incproj X0)A((v3-incproj X0)A((vd_incproj
X0)A((vb-ineproj X0)A((v9-inecproj X0)A(I1-incsp-1 X0))))))))A
((m1_subset.1 X1 (u22ncsp_l X0)A((ml_subset-1 X2 (u2incsp_1
X0))A(ml_subset-1 X3 (ul_incsp-1 X0)))))=((vl_functl (kl_projredl
X0 X1 X2 X3))A(ml_subset_1 (kl_projredl X0 X1 X2 X3) (kl_zfmisc_1
(k2_zfmisc_1 (ul_incsp-1 X0) (ul_incsp-1 X0)))))
(2)

Assume the following.

VXO0.((v6_incsp-l X0)A((vlincproj X0)A((v2_incproj X0)A
((v3_incproj X0)A((vd-incproj X0)A(I1-incsp-1 X0))))))=((v5_incproj
X0)=(VX1.(mlosubset-1 X1 (u2-incsp-1 X0))=(VX2.
(ml_subset_1 X2 (u2_incsp-1 X0))=(3X3.(ml_subset-1 X3
(ul_inesp-1 X0))A((rl-inesp-l X0 X3 X1)A(rloinesp-1 X0 X3 X2))))))
(3)



Assume the following.

vX0.(I1_incsp1 X0)=((v6_incsp_1 X0)=(VX1.(ml_subset_1
X1 (ulinesp-l X0))=(VX2.(ml_subset_1 X2 (ul_incsp-1 X0))= ()
(3X3.(m1_subset-1 X3 (u2-incsp-1 X0))A((rl-inesp-1 X0
X1 X3)A(rloinesp-l X0 X2 X3))))))

Assume the following.

VX0.((v6-incsp-1 X0)A((vlzincproj X0)A((v2-incprogj X0)A
((v3_incproj X0)A((vd-incproj X0)A((v5-incproj X0)A((v9-incproj
X0)A(I1inesp-1 X0))))))))=(VX1.(ml_subset-1 X1 (u2-incsp_1
X0))=(vX2.(ml_subset_1 X2 (u2_incsp-1 X0))=(VX3.
(ml_subset_-1 X3 (ul_incsp-1 X0))=(-(-rlincsp-l X0 X3 X1)A((—
rlinesp-l X0 X3 X2)A(=VX4.((v1-funct-l X4)A(ml_subset_1
X4 (kl_zfmiscl (k2_zfmisc_1l (ul-inesp-l X0) (uloinesp-1 X0)))))=
(X4 = kl_projredl X0 X1 X2 X3)<((rl_tarski (kl-relset1 (ul_incsp-1
X0) X4) (ul_inesp-1l X0))A((VX5.(ml_subset_1 X5 (ul_incsp_1
X0))=((X5 € klrelset_1 (ul_incsp-1 X0) X4)=(rlincsp-l X0 X5 X1)))A
(VX5.(ml_subset-1 X5 (ul_incsp-1 X0))=(VX6.(ml_subset_1
X6 (ulsnesp-l X0))=(((rluncsp-1 X0 X5 X1)A(rl-incsp-l X0 X6 X2))=
((k1_-funct.1 X4 X5 = X6)<(3X7.(ml_subset_.1 X7 (u2_incsp-1
X0)A((rlbnespl X0 X3 X7)A((rlbncsp_l X0 X5 X7)A(rlzincsp-1

X0 X6 X7)))))))))))N)))) (5)

Theorem 1

VX0.((v6-incsp-1 X0)A((vl-incproj X0)A((v2-incproj X0)A
((v3incprog X0)A((vdzincproj X0)A((vh-incproj X0)A((v9-incproj
X0)A(I1-inesp-1 X0))))))))=(VX1.(ml_subset_.1 X1 (ul_incsp_1
X0))=(vX2.(ml_subset_.1 X2 (ul_incsp-1 X0))=(VX3.
(ml_subset-1 X3 (u2_incsp-1 X0))=(VX4.(ml_subset_1 X4
(u2-incsp-1 X0))=(—(-rlancsp-l X0 X1 X3)A((—rloncsp-l X0 X1
XN ((rlzinesp.l X0 X2 XAA(VX5.(ml_subset-1 X5 (ul_incsp-1
X0))=(~(rlincsp-1 X0 X5 X3)A(kl_funct-1 (kl_projredl X0 X3 X4

X1) X5 = X2))))))))))



